

FABL SHOWTIME 2025-26 SCORING LEADERS FINAL

PLAYER NAME	#	GD	TEAM	1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	TOTAL	GMS	PPG
Jake Dexter	4	12th	BUFANO		26	6	19	24	18	11	13	12	20	17	31	19	19	19	25	25	304	16	19.00
Grant Hinton	3	11th	SAILORS	18	14	22	26	4	18	22	9	12	13	21	5	16	26	22	48	12	298	17	17.53
Stephen Puckett	3	12th	PUCKETT		21	13	15		8	11	19	12	29	33	19	4	16	28		22	238	14	17.00
Quentin Duncan	10	12th	CLARK	5	5	25	25	13	20				11	16	22	13	27	22	22	18	230	14	16.43
Liam MacCarroll	12	12th	THOMAS	20	11	17	21		7	18	12	15	20	9	10	21	19	31	15	0	248	16	15.50
Caleb Stapleton	11	12th	"WORD UP"	6	14	15	14	6	12	15	8	17	5	15	13	19		19	14	28	239	16	14.94
Luke Notari	2	12th	NOTARI	22	12	17	12	8	13	14	13	10	12	18	17	16		23	7	9	239	16	14.94
Jacob Klein	3	12th	DAVIDSON	8	18	17	15	6	25	22	13	6	16	24	8	15	11	13	12		233	16	14.56
Charlie Hitzel	14	12th	UNC & DA GOON SQUAD	22	20	7	24	14	11	14	19	19	8	14	13	7	11	8	24	10	241	17	14.18
Hassan Yousafzai	14	12th	OWENS		18	12	14	7		10	13		23	19		15	23	14	11	12	183	13	14.08
Nolan Restivo	10	12th	BOLSTER	10	19	7	13	12	6	21	26	18	2	12	12	21	12		6	9	215	16	13.44
Danilo Jaksic	1	12th	ROSS		8	11	7	20	23	17	9	11	8	14	4	7	12	31	11	18	206	16	12.88
Cayden Fournier	10	10th	BLUEBERRIES	13	14	4	2	16	8	17	12	9	14	9	8	13	13	33	15	9	209	17	12.29
Tanner Kane	13	11th	SOCOM	5	4	18	7	13	14	7	9	5	16	13	10	8	17	18	37	11	203	17	11.94
Patrick Flatley	4	12th	BLUEBERRIES	8	8	6	12	19	13	23	5	8	12	8	8	21	15	10	7	11	200	17	11.76
Jeryn Stroup	11	12th	SOCOM	9	9	10	8	10	24	7	11	12	18	10	8	4	20	12	28	12	196	17	11.53
Finn Clark	14	10th	CLARK	7	8	7	10	3	14	10	10	15	16	12	12	13	11	26	12	7	195	17	11.47
Nathan Frattali	14	11th	SOCOM	14	4	19	9	12		14	7	8	17	4	14	12	6	10	21	5	182	16	11.38
Sean Crochunis	13	12th	NOTARI		15	13	14	3	17							6	14	5			81	8	10.13
Maiwand Jahangir	14	12th	DAVIDSON	6	7	10	7	5		12	9	5	2	25	9	12	5	6	17	17	161	16	10.06
Zachary Rose	11	12th	HILLMAN	21	9	12	15	12	14	5	2				8	8	17	6	7	13	140	14	10.00
Jayden Venable	2	11th	SKID MARKS	5	11		8		3	13	7	8	10	23	10	4	6	18	14		138	14	9.86
Devin Wade	1	10th	BUFANO	8	2	0	7	4		0	5	5		22	8	18	11	13	20	16	146	15	9.73
Jude Kim	4	12th	DAVIDSON	7	9	10	14	5		13	4	13	12	8	6	13		8	2	9	146	15	9.73
Brody McCormick Blazer	10	12th	COMPOFELICE	7	11		13	10	12	10	7	8		4				9	10	14	115	12	9.58
Jonny Rekus	5	12th	SKID MARKS	6	10	7	13	13	5	2	10	6	2		19	16	15	9	14	5	153	16	9.56
Danny Nelson	11	12th	COMPOFELICE		1	5	10	10	14	18	6	4	5	9	15	12	10		4	12	137	15	9.13
Philip (PJ) Lownsbury	11	12th	ROSS		2	5	8	4		7	4	8	18	15		10					91	10	9.10
Ryan Houck	1	11th	PURPLE RAIN	9	8	5	4	7	8	9	0	6	14	11	10	21	8		6	6	145	16	9.06

FABL SHOWTIME 2025-26 SCORING LEADERS FINAL

PLAYER NAME	#	GD	TEAM	1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	TOTAL	GMS	PPG
Austin Safran	5	12th	PURPLE RAIN	8	2	4	5	16	9	18	2	9	6	12	9	6	13	20	16	6	154	17	9.06
Jacob Chubb	10	11th	PURPLE RAIN	4	7	8	8	7			7	10	9	7	14		11	20	8	13	122	14	8.71
Alexander McGhin	4	10th	THOMAS	5	7		10	11	7	10	12	6	7	6	6	6	10	10	11	19	139	16	8.69
Zac Clarke	12	12th	HILLMAN	7	10	15	4	10	18	4	0	9	11	12	10	10	6	2		4	136	16	8.50
Chase Laughman	2	11th	BUFANO	2	7	0	9	4	17	10	11	5	11	20		6	9	7	5	15	135	16	8.44
Caden Compofelice	2	12th	COMPOFELICE		4	11	9		4	4	10	3	17	7	7	11	14	10	4		112	14	8.00
Matthew Ford	4	12th	PURPLE RAIN	15	10	13	7	4	4	9	12	4								7	85	11	7.73
Logan Lowe	3	10th	UNC & DA GOON SQUAD	13		5	3	5	13	2	7	12		12	20	5	6	9	10	0	121	16	7.56
Kolton Price	11	11th	SKID MARKS	2	6	14	4	6				0	7		6	10	10	7	14	10	96	13	7.38
Owen Cook	2	10th	BLUEBERRIES	12	3	5	7	2	1	3	12	13		9	8		12	6	13	13	107	15	7.13
Aaron Lamb	10	12th	SAILORS		2	0		7	10	2	2	12	14		5	3		12		10	82	12	6.83
Nathan Hoffman	3	10th	ROSS		0	0	5	6	2	7	6	4	6	9	18	10	5	17	5	4	109	16	6.81
Derek Jones	2	12th	UNC & DA GOON SQUAD	14	11	4			10	6	8	3	13	1	2	12	6	4	0	2	102	15	6.80
Callum Greco	2	12th	PUCKETT	7	8	5	7	9	4	11		4	7	4		3	14	13	7	7	99	15	6.60
Matt Ceglia	10	9th	ROSS		8	8	13	3	7	0	9	2		2	14	8	0	5	0	12	99	15	6.60
Brandon Johnson	1	9th	SKID MARKS	2	6	15	9	5	4	10	6	10	9	6	6	4	8	13	0	2	111	17	6.53
Joey Falise	4	10th	SAILORS	7	4	7	10	8	11	5	10	2	6	5	4	5	6	6		9	104	16	6.50
Jebediah Grissom	11	10th	UNC & DA GOON SQUAD		14	2	9	2	9	3	5	12	18	4	6	5	6	1	8	1	104	16	6.50
Dom Califano	11	12th	SAILORS	6	3		2	9		9	6	6		6	10	1		12			71	11	6.45
Ethan Magulick	13	12th	"WORD UP"	8		6	9	3	8	9	6	11		5	7	5	7	2	2	10	96	15	6.40
Carter Glass	12	12th	COMPOFELICE	6	3	5	8	4		4	14	9		2		5			3		68	11	6.18
Parker Helmick	12	11th	SKID MARKS	5	0	8	6		8	11	8	8	6	7	7	3					80	13	6.15
Jordan Paraway	12	12th	NOTARI	10	2	8	2	2	0	6	4	10	4	9	3	7	2	9	5	14	102	17	6.00
Michael Burns	11	11th	PUCKETT	10	0		5	4	8				4	5	2	11			6		66	11	6.00
Coltyn Bull	13	12th	HILLMAN	6	4	5	3	2	4	6	10	2	10	9	10	4	11	13	5	4	101	17	5.94
Jeremy Kim	12	10th	DAVIDSON	13	7	3	2	6	8	11	2	7	7	5	3			5	2	8	89	15	5.93
Finn Buppert	1	9th	OWENS		0	3	7	9	7	4	6	6		7	5	10	10		3	5	82	14	5.86
Ethan Addison	13	12th	THOMAS	10		5	4	7		4	1	1	2	12	6	8		6		2	76	13	5.85
Brett Leighton	4	10th	COMPOFELICE	8	2	7	0	3	1	12	7	7	5	5	18	5	8	6	3	5	99	17	5.82

FABL SHOWTIME 2025-26 SCORING LEADERS FINAL

PLAYER NAME	#	GD	TEAM	1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	TOTAL	GMS	PPG
Connor Hill	13	12th	BLUEBERRIES	2	6	6		2	2	14	2	7	8	5	4	8	2	8	4	6	92	16	5.75
Thomas Moore	13	12th	BOLSTER	8	2	2		5	8	8	10	0	14	8	2	1	0	7	7	5	88	16	5.50
Michael Bolster	4	12th	BOLSTER	1	4	4	2	5	2	2	7	8	3	5	5	11	7	12	5	6	93	17	5.47
Kaeci White	3	10th	COMPOFELICE	12	2	2	9	3		4	7	3	0	0	3	5	0	9	8	14	86	16	5.38
Corin Richardson	11	10th	DAVIDSON	6		6	9	10	0	0	7	5	13	2	5	3	7	6	0	11	86	16	5.38
John Whitty	10	9th	"WORD UP"		6	2	0	5	2	6	2	1	13	10	10	2	4	5	9	11	86	16	5.38
Noah Sederquist	3	12th	"WORD UP"	4	2	6	5	2	6	11	1	3	8	4	5	8	2	9	1	6	89	17	5.24
Grayson Dulaney	2	10th	PURPLE RAIN	7	2	4	5	20	0		2	6				2	2			7	57	11	5.18
Ethan Sellars	14	11th	COMPOFELICE	8	1	8	1	8	1	0	3	3	6	8	8	4	5	6	11	5	85	17	5.00
Grant Centineo	4	10th	PUCKETT	9	3	0	7	1	0	8	6	3	9	10	4	2	6	9		6	79	16	4.94
Carter Wilson	14	11th	ROSS		6	2	0	0	4	4	8	5	11	10	2		7	8		9	69	14	4.93
Christopher Trigger	10	10th	SOCOM	0	0		5	0		3	9	4		10	8	6	6	4		9	64	13	4.92
Alexander Proffitt	5	12th	BOLSTER	0	2	1	6		3	3	4		10	7	1	2	4		6	21	68	14	4.86
Lucas Albano	3	10th	BOLSTER	10	3	2	0	4	7		5	9	0	9		2				8	57	12	4.75
James Harkness	3	11th	THOMAS	3	9	2	2	3	9	2	7	0	8	2	4	3	2	12	7	4	80	17	4.71
Dustin Hohman	3	11th	BUFANO	7		4			3	2	10				2						28	6	4.67
Miles Halsey	2	10th	HILLMAN	0	5	6	4	3	6	4	6	2	0	14	6	2	0	3	8	8	79	17	4.65
Liam Andersen	14	10th	SAILORS	0	1	2	13	6		2		6	4	2	5	6	9	5	5	6	69	15	4.60
Joey Hearn	5	12th	BLUEBERRIES	4	0	7	4	1	3	4	3	1	4	2	0	17	4	4	3	4	78	17	4.59
Shayne Tourangeau	12	12th	SOCOM	7	6	2	4	8	0	3	4	9	6	0	2	5	0	10	4	0	75	17	4.41
Tanner Grogan	3	10th	PURPLE RAIN		6	0					0	4	8	5	4	4			2	7	44	10	4.40
Brady Atwood	5	12th	OWENS		0	13	0	3		6	0	5	9	2	10		8	4		3	55	13	4.23
Adam Maney	12	12th	"WORD UP"	4	6	0	0	4	5	4	5	7	7	13		2	13	3	2	2	66	16	4.13
Devin Owens	13	10th	OWENS		0	0	8	2	6	7	7	3	4	0	7	5	4	6	4	2	66	16	4.13
Landon Barioto	12	10th	BUFANO	6	6	7	4		8	10		2		4		0	6			2	49	12	4.08
Kanaan Thomas, Jr.	14	11th	THOMAS	7	0		7	2	5	1	3	3	8	5	3	7	4		2	1	61	15	4.07
Tanner Reinke	3	10th	SKID MARKS	3	0	4	5	6	6	0	5	0	6	9	4	2	0		2	10	64	16	4.00
Nolan Hughes	3	11th	NOTARI	9	14	2	2	2	6	2	3	3	4	3		4	0	0		0	58	15	3.87
Christopher Solomon	2	9th	SOCOM	5	6	2	4	4	7	7	4	5	3	0	3	3	0	2		3	61	16	3.81

FABL SHOWTIME 2025-26 SCORING LEADERS FINAL

PLAYER NAME	#	GD	TEAM	1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	TOTAL	GMS	PPG
Avery Hill	11	9th	BLUEBERRIES	2	2	3	4	10	6		0	2	4	2	0	10	2		0	2	57	15	3.80
Andrew Bacon	13	11th	CLARK	0	0	6		2		0	7	11	2		4	1	4	4	10	5	53	14	3.79
Caleb Sederquist	1	10th	"WORD UP"		3	2	17	2			4	0				2	7		5	0	37	10	3.70
Malachi Foreman	11	9th	BOLSTER	2	2	2	3	2	4	3	4			2	1	7	3	8	8		55	15	3.67
Tate Souder	5	12th	BUFANO		4	0	0	4	5	0	2	5	4	3	10	5	6	4	2	5	58	16	3.63
Cameron Doyle	4	10th	NOTARI	2	0	2	7	5	0	2	5	1		11	12		10	7	0	0	54	15	3.60
Daniel Sommerville	10	12th	PUCKETT		0	2	3	6	6	1	4	7	0	5	10	5	3	0		0	54	15	3.60
Drew Marzano	1	9th	CLARK	0	4	2	6	1	2	5	10	8	4	3	11	2	2	0	1	0	61	17	3.59
Joseph Annable	12	10th	OWENS		0	3	5	0	2	5		5	2	2	2	7	7	5	0	8	53	15	3.53
Henry Buppert	11	11th	OWENS		1	6	4	4	6	4	6	4		2	3				2	0	42	12	3.50
Covin Hill	4	9th	HILLMAN	2	8	0	2	5	0	1	9	9	2	0	8	2	6	0	3	5	58	17	3.41
Dominic Hall	1	9th	THOMAS		8	21	5			0	0	2	2	0	0		0	0	4	2	44	13	3.38
Edgar Kirby	14	11th	NOTARI	4	2	0	0	5	2	2	1	0		6	6	2	0	4	6	12	54	16	3.38
Justin Simmons	11	12th	CLARK	3	0	2	4	5	2	0	3	9	6	2	2	1	4	5	9	3	57	17	3.35
Leo Solano	5	10th	SOCOM	2	0	2	4	1	6	2	1	6	8	4	4	2	11	11	2	0	57	17	3.35
Logan Fringeli	3	9th	OWENS		2		5	4	4	2	3	10	2	8	2	0	6	6	0	2	50	15	3.33
Shamar Berkley	5	10th	UNC & DA GOON SQUAD	2		4		3	0		0	6	5	2	2	7	3	2	5	0	45	14	3.21
Cayden Ciccarelli	13	9th	UNC & DA GOON SQUAD	0	4	6	3	3	4	0	6		2	3	6	2	2	3		2	46	15	3.07
Cortland Morgan	14	10th	SKID MARKS			5			4	6	0	1	2	4	4	0	6			7	33	11	3.00
Tristan Barsoum	10	11th	OWENS		3		0	2	0	5	2	2	10	0		0	2	6	8	4	42	14	3.00
Braeden Ross	2	12th	THOMAS	2	2	7	2	6	2	4	5	4	5	2	2	1	0			0	45	15	3.00
Dane Schwartz	13	9th	PURPLE RAIN	0	2	4	6	7	5	5	2	7	0	2	2	0	0	6	2	0	50	17	2.94
Ethan Wagner	2	12th	BOLSTER	0	4		2	0	6		0	3	2	6	13	0	0	3	3	2	44	15	2.93
Cauley McEwen	3	8th	HILLMAN	3	0	5	0	0	3	7	1	0	2	1		0	2	12	6	6	46	16	2.88
Brady Kelley	1	9th	PUCKETT	2	1	2	2	4			0	6	2	0	10	2	3	4	6	0	43	15	2.87
Jeremiah Paraway	11	9th	NOTARI	2	1	3	2	5	6	2	0	8	5	2	2	3	3	0	2	2	48	17	2.82
Nicholas Bokman	1	11th	HILLMAN	3	1	3		1	4	2	7	0	5	9	4	2	2	0	2	0	45	16	2.81
Lawrence Russo	4	9th	SKID MARKS	0	0	2		4	0	2	6	6			5	0	2	2	10	2	39	14	2.79
Jamison Eder	14	11th	BOLSTER	0	3	2	1	9	4	4	2	2	0	3	2	2	4	3	6	2	47	17	2.76

FABL SHOWTIME 2025-26 SCORING LEADERS FINAL

PLAYER NAME	#	GD	TEAM	1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	TOTAL	GMS	PPG
Teddy Roach	1	11th	BLUEBERRIES	6	0	0			3			3		2			4	4			22	8	2.75
Michael Novak	4	12th	OWENS		5	3	0			5	4	5		0			0				22	8	2.75
Talon Gilbert-Candeloro	10	10th	UNC & DA GOON SQUAD	2	6	2	0	4	6	0	2	3	2	3	5	0	2	2	2	7	46	17	2.71
Nathan Boone	3	10th	CLARK	2	2		7	0	0	4	4		7	1	6	0	3	0	4	3	40	15	2.67
Hitesh Ambaty	2	12th	CLARK	1		2	3	2	2	7	4	4		4	0	3	1	2		0	37	14	2.64
Jack Cirner	4	10th	"WORD UP"	0	4	0	5		5	4	2	2		6	4		0	2	0		34	13	2.62
Tyler Tilkens	10	10th	NOTARI	0		2	2	0		1	1	5	2	2	0	6	2		4	8	39	15	2.60
Ryan Guilfoyle	10	9th	THOMAS	2	0	2	0	2	2	0	0	5	1	2	0	2	5	10	12	2	44	17	2.59
Darren Hardnett	3	9th	BLUEBERRIES		0	0			6		3	3		0						6	18	7	2.57
Cristian Prince	12	12th	PUCKETT		0		2					4		0	2	4			2		18	7	2.57
Carter Reeves	4	10th	UNC & DA GOON SQUAD	0	6	4	2	0		2	1	2	1	8	0	2	13	3	0	7	40	16	2.50
Lucas Smyrnioudis	2	9th	DAVIDSON		3		3	3	1	0	2	3	2	0	8		6		4	3	32	13	2.46
Skylar Zador	13	10th	ROSS		0	2	0	2	2	0	2	2	4	6	6	2	2	4	4	0	38	16	2.38
Parsa Jahangir	10	11th	DAVIDSON	0			0								6	0		0	2	14	6	2.33	
James Boswell	12	10th	SAILORS	5	1	0		3		2	0	0					8	2		21	9	2.33	
Chase King	2	11th	ROSS		0	2	3	0	7	2	0	0		0	3	2	2	4	0	10	35	15	2.33
Gavin Gelletly	5	9th	SAILORS	0	6	2	2	3	2	0	3	2	2	4	0	2	3	0	6	3	39	17	2.29
Brice Deskin	1	11th	BOLSTER	4	1	0	2	2	4	3				3	3		3		3		25	11	2.27
Ethan Almeida	4	10th	SOCOM	0	3	0	2		8	3	0	2	7	2	2	0	5			2	31	14	2.21
Jett Mensah	4	10th	CLARK	4	4	0		0	0	0	0		0			7	0				22	10	2.20
Grasyn Hanfman	14	10th	"WORD UP"		6	3	0	1	0	3	6	0	5		3	0	0	3	0		30	14	2.14
Jack Birch	12	12th	ROSS		2	2	2	6	2	0	5	2	4	2	1	0			0	2	30	14	2.14
Caleb Gelletly	13	9th	SAILORS	2	0	0	5	0	5	0	5	2	0	2	4	2	5	7	0	0	36	17	2.12
Corey Chapman	10	11th	BUFANO	0	2		2	2				2	3	4	0	4	3	0	2	1	26	13	2.00
Colton Morrison	2	12th	SAILORS	0	3	0	6	0	3	2	4	0	6	3	3	0	2	0	0	3	33	17	1.94
Luke Pavlick	1	12th	UNC & DA GOON SQUAD	2	2	2	0	1	2	0		0	0		3	4	1	3	2	4	29	15	1.93
Benjamin Atwood	2	9th	OWENS		0	0	2	2		2	0	8	6	2	2	0	2	2	3	0	29	15	1.93
Peyton Metz	13	10th	PUCKETT	0	0	3		5	2		6	3	0		0	2	7		0		23	12	1.92
Gabriel Whiteman	14	12th	PURPLE RAIN	0	2	2	2		0	4	0	5					1				15	9	1.67

FABL SHOWTIME 2025-26 SCORING LEADERS FINAL

PLAYER NAME	#	GD	TEAM	1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	TOTAL	GMS	PPG
David Mitchell	14	10th	HILLMAN	0	2		0	6	2	4		2	0	2	5	0	3	2	0	0	25	15	1.67
Colin Mowery	5	10th	NOTARI	0	3	1	0	0	2	3	2	3	0		2	0	0	0	3	2	21	16	1.31
Brayden Clayton	1	9th	COMPOFELICE	0	2		3	2	0	0	0	5	0	5	0	0	0	3		0	20	16	1.25
Jackson McLaughlin	5	9th	THOMAS	0		0		2	0	3	2	2		0	0	0	3		2	5	16	13	1.23
Luke Denney	13	9th	BUFANO	0		2		0		2	3	0			1	0		0	4		12	10	1.20
Jameson Carter	3	9th	SOCOM	4	3	0	5	0	0	0	0	0	0	0	2			2		0	16	14	1.14
Evan Lawson	13	10th	SKID MARKS		0		0	3	0	0	4	0		2	0	0	4	2	2	3	16	14	1.14
Will Egge	1	10th	SOCOM	2	2	0	2			0	0	0	2	0	2	0	0	5	0	2	17	15	1.13
John Kidd	11	9th	PURPLE RAIN	0	0	0	0	0	2	0	1	2	0	6	2	2	6	0	0	2	19	17	1.12
Jack Marong	10	9th	HILLMAN		0	0	0	0	2	2	0	0	0	2	2	0	0	0	4	4	16	16	1.00
JayDan Sherman	14	12th	PUCKETT		0	0	0	0		2		2	2	2	0	0	0	1	4	1	14	14	1.00
Blake Kaufman	5	11th	HILLMAN	0	0	0	0	0	0	2	3		4	6	0	0	0	0	0	0	15	16	0.94
Hao Zheng	11	10th	BUFANO	0		3	0	0	1	0	0	3	2	0							9	10	0.90
Tristan Roll	5	9th	ROSS		2	0	0	3	4	0	0	0	0	3	0	0	0		1	0	13	15	0.87
Matthew O'Donnell	5	11th	DAVIDSON			0	0		0		2	2				2	0	0	0	0	8	10	0.80
Dayo Ogunbadejo	11	10th	THOMAS	2	3				2	0	0	0	0	0	0	0	5	3		0	10	13	0.77
George Tsibadze	5	9th	"WORD UP"	0	4	0	0	7	0		0	0	0	0	0	0	0	0	0		11	15	0.73
Dylan Raheja	5	9th	PUCKETT	0		0			0	0	0		2		0	0	0		1	6	9	13	0.69
Aiden Mejia	5	9th	COMPOFELICE	0	0	0		0	0	0	0	0	3	0	6	0	3	0	2	0	11	16	0.69
Austin Reed	12	9th	BOLSTER	0			2		0	0	0		3	0	0	0	0			2	7	11	0.64
Mason Zacharias	1	9th	DAVIDSON	3	0	2			1	0		0			0	0	2	0	0		6	11	0.55
Sebastian Venuti	2	9th	"WORD UP"	0	0	0	0			0		0	0	0	0	0		0	0	6	6	13	0.46
Jusmeh Kalra	14	11th	BLUEBERRIES	3	0	0	0		0		2		0	0	0		0	0			5	11	0.45
Elijah Inzana	12	11th	CLARK	2	0	0	0	1	0	0	0	0	0	0	0	0	0	4	0	0	7	17	0.41
Arjan Kafley	10	12th	SKID MARKS		0		1					0									1	3	0.33
Aarnav Pandey	13	9th	COMPOFELICE	0	0		4		0	0	0	0	0	0		0	0	0	0		4	13	0.31
Benjamin Wadsley	12	9th	PURPLE RAIN	0	0	0		0	3	0		0	0		0	0	0	0	0	1	4	14	0.29
Shaun Billings	1	9th	NOTARI	0	0	0		0	0		0	0	0	0						2	2	10	0.20
Jayden Caples	4	10th	ROSS		0		0			0	0		2		0		0	0	0	0	2	10	0.20

FABL SHOWTIME 2025-26 SCORING LEADERS FINAL

PLAYER NAME	#	GD	TEAM	1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	TOTAL	GMS	PPG	
Liam Vammino	12	9th	UNC & DA GOON SQUAD	0	0	0	3	0	0	0	0	0	0	0	0	0	0	0	0	0	0	3	16	0.19
Peyton Kenny	13	9th	DAVIDSON	0	0	0	0	0	2	0	0	0	0	0	0	0	0	0	0	0	0	2	12	0.17
Momin Rizvi	12	9th	BLUEBERRIES	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2	0	0	2	13	0.15